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1. In 5930, the digit 3 is in the place.
2. In 4827, the digit 4 is in the place.
3. In 2041, the digit O is in the place.

4. In 9438, the value of the digit 8 is

5. In 3625, the value of the digit 6 is

6. In 7936, the value of the digit 7 is

\_L/
(&%) .
7. 8 thousands, 8 tens and 16 ones is the same as

\_1/
e 8. 2 thousands, 2 hundreds, 10 tens and 3 ones is the same as

9. What is the sum of the values of the digit 4 in 1450 and 30457

10. What is the sum of the values of the digit 9 in 9204 and 37097
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. Complete the puzzle using the pictures as clues.
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Word Problems -

Addition and subtraction _@
t
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1. A piano and a violin cost $3850 and $1299 respectively. During
a sale, $250 was deducted from the cost of the violin and $S899
was deducted from the cost of the piano.

(a) How much did the piano cost?
(b) How much did the violin cost?

Ans: (a)

(b)

2. There are 1650 strawberries in Box A. There are 545 more
strawberries in Box B than in Box A. There are 309 fewer
strawberries in Box C than Box A.

(a) How many strawberries are there in Box C?
(b) How many strawberries are there in the three boxes?

Ans: (a)

(b)
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1. Divide 20 by 4.
/ 5. Find the product of 3 and 12.

8. Divide 81by 9.

—~__ 9. Divide 100 by 10.

X

_Down B

1. Find the product of 4 and 12.
2. Multiply 8 by 8.

3. Multiply 10 by 5.

8 4. Find the product of 6 and 4.
I

6. Divide 84 by 7. x

100
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7. Divide 56 by 8.
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